% é %3 a [Ipeobpa3oBaHre MPOIIEHTOB B ACCATUYHBIC YHCIIA

WUms: Jata: ___ Ouenka:___
1,77 = % 0,28 = %
1,28 = % 0,12 = %
0,15= % 0,49 = %
0,39 = % 1,65 = %
0,83 = %o 1,39 = %
1,34 = % 0,79 = %
1,12 = % 0,95 = %
1,7= % 1,16 = %
1,44 = % 1,69 = %
0,35= % 0,17 = %
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[TpeoOpazoBaHue MPOIEHTOB B IECTUYHBIE YMCIIA

Nwms:

1,77 =177%

1,28 = 128%

0,15 =15%

0,39 =39%

0,83 =83%

1,34 = 134%

1,12 =112%

1,7=170%

1,44 = 144%

0,35 =35%

0,28 = 28%

0,12 =12%

0,49 =49%

1,65 =165%

1,39 = 139%

0,79 =79%

0,95 =95%

1,16 = 116%

1,69 =169%

0,17=17%
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